2021 £ 10 B HAREDOEREREICOWVWT
(A5 AR +tEH)

2021 =
BHEH A X KA

iy ©
Pe

BHEBHAA®ASHE (LR REA ) (3. 2021 £ 10 BB#H DS H RS
HFCERT 3 BAklE% 2021 9 BMEtHICHARTIMIIC O 772 2.02 M
(Fer) FAEIETCWELEEES, i, 2021 = 5 B~ 7 B O FH R RIS

( 64,640 F/M) ICL2BEBEREEZITI HDTT,

CORABICKVEERETINAICDOE 8 M () #HREEHLR  EHYET,

10 AESHRAEBHTRER (D) EAOZEREBICSLTA~COSRS BRI NET, )

HEXS 1A o ERE R TR

AHBABLVOARX—LZ—1EICDX) (Imic> &)

om*s, s 8mix T 506.00 M 47271 M

8m*% Z 230m’°% T 1,386.00 M 362.71 M

C 30mE Z 2 BEA 3,861.00 M 280.21 M

FHEREEHERE (B k)

2021 & 5 A~ 7 B| EEEGFEEMEE

TR EHEE 64,640 50,720
CEESEEEPN|

EEREICHIT2ZEE (M)

IEHERRE 4 m3/B 2021 & 10 A% 2021 & 9 A4| %
(F3n) 2,396 2,388 8

KIEREREHN AR EIF, TREIGL/ZY FEEHRE AQOI6EE~2020EEDSHEFYICEIEEELTWET,




Bl R

1. HADEENEDRE LEOHERE

CEg BRRHmE) (BT FURHImAS) (%)
64,640 M,/ k> — 50,720 B/ b = 13,920 B,/ b >~
13,900 B, b >~
KEA R IR & FHREHER & o=
%813 100MEfI & L, 100RE DikEk
IF10M DAL TYE T
(ADRELEH)
13,900 M,/ k> X 0.204 =+ 100 x 1.10 = 31.19 §/m?
MNBEBIIUT  PIVRT
(HBORELHE) FIBORELE) (BT & DE%8)
31.19 g/m?® — 29.17 m/m? = 2.02 §/m?
2. EEREICEIIZHRNEOHE (A/A)
2021 = 2021 % 2021 &+ 2021 =%
10 A 9 A 8 H 7 B
BERE 4o
L L m*/A 2,396 2,388 2,397 2,395
B ()
BB & DERE 8 A9 2 30
KIEBAEREAZBEF, TREVELYFHEEHRE B Q016 EE~2020FEEDSHEFH)ICEIEETLTWET,
[E#REICHITD 2021 £ 10 B9  oAREE (L) 5HEH%]
EARRE + ( HEHMRS + eEReHEMmAEE ) X BEREOFHN L ARERAE
506.00 F3/8 44152 m/m? 31.19 m/m? 4 m3/B

= 2,396 M/A



